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 إجابات التفاضل

 الإجابة سؤال الإجابة سؤال الإجابة سؤال إجابة سؤال إجابة سؤال إجابة سؤال

 ب 178 ج 101 ب 28 أ 21 ب 78 أ 1

 ب 172 ب 107 د 22 د 27 أ 72 أ 7

 د 176 ج 103 د 26 ب 23 ب 76 أ 3

 أ 172 ج 107 ب 22 أ 27 أ 72 ج 7

 ج 130 د 102 ج 60 ج 22 أ 30 أ 2

 أ 131 ب 108 د 61 أ 28 أ 31 ب 8

 ج 137 أ 102 أ 67 ج 22 ب 37 ب 2

 د 133 أ 106 أ 63 أ 26 أ 33 ب 6

 ج 137 ج 102 ب 67 د 22 ج 37 ج 2

 أ 132 د 110 أ 62 د 80 د 32 ج 10

 ج 138 ج 111 أ 68 د 81 أ 38 د 11

 ب 132 أ 117 ج 62 ب 87 ب 32 ب 17

 ج 136 ج 113 د 66 ب 83 ج 36 أ 13

 أ 132 ج 117 ج 62 أ 87 ب 32 ج 17

 ج 170 ب 112 أ 20 د 82 ب 70 ب 12

 أ 171 د 118 أ 21 ج 88 د 71 ب 18

 ج 177 أ 112 أ 27 د 82 د 77 ب 12

 ج 173 أ 116 ب 23 ب 86 أ 73 د 16

 أ 177 د 112 د 27 د 82 أ 77 أ 12

 أ 172 د 170 ج 22 ب 20 ج 72 د 70

 أ 178 أ 171 د 28 د 21 ج 78 ب 71

 ج 172 ب 177 ج 22 ج 27 أ 72 أ 77

 د 176 أ 173 أ 26 ب 23 أ 76 د 73

 ج 172 ب 177 أ 22 د 27 أ 72 أ 77

 أ 120 أ 172 أ 100 د 22 أ 20 ج 72
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